CHAPTER -5

PERIODIC CLASSIFICATION OF ELEMENTS
ddl & 31Tdd dIThRoT

| agfachodl WSl (OBJECTIVE TYPE QUESTION) | =

What is the basis of classification of elements in
modern periodic table?

e fased &1 99 B 1 AtomicNumber 2 Atomic mass
. Atomic Volume . Atomic Densit
L 3gfre 3ad Fraw & AR a @ S 1T 3Ed 3 o 4 ' o
BATEd e | Ans. 1. Atomic number
1L WHAVGHAMAS 2. WAV A S 6. 3ess fagerd o1 ufdure feeam faar ar?
3. WAV IRAT S 4. TRV UTE & 1L RN 2 goigd
3R- 1 WA ET S 3 HiFA 4. TH AP TE
1 According to the modern periodic law, the properties  3d3- 2. wlﬁg'ﬂ
f el iodic f i f?
of elements are periodic functions o 6. Who propounded the octave theory ?
1. Atomic mass 2. Atomic volume .
1. Dobereiner 2. Newlands
3. Atomic number 4.  Atomic density
) 3.  Mosle 4.  None of these
Ans. 1. Atomic number A Newland
. . . : 2. ewlands
2. 31T 3rrad ARon F 3rrad sl S Fear e ns _
L4 , 6 7. 3tTad AR & af 17 & dd BT 87
3 7 4 18 1. BRUY 2 gﬁﬂac—q'
T 3 - 3. FEEH 4.  TpHUTTE
2. The number of periods in the modern periodic table IW- 3 EAD
is 7. The elements of group 17 of the periodic table are
1. 4 2. 6 called?
4. 18 1. Alkali Metal 2. Rare Element
Ans. 3. 7 3. Halogen 4.  Transition Elements
3. HsHIp I 3Tad ARl ¥ fma 3mmad N Ans. 3. Halogen
L 6 2 9 8. A aa s &
3.7 4. 8 1L Mg 2. He
Ans. L 6 3. Au 4. H
3. How many periods were there in Mendeleev’s periodic 397 > He
table
. : 5 8. Which is the inert element?
’ L M 2 H
3 7 4 8 g €
Ans. 1. 6 3 Ad 4 H
; < Ans. 2.  He
4. TIATU] & o TH B9 A 31feres A 31feres foe seiare 4
WHABAE? 9. 3Tad ARUN & IS T D) FT Hodl 87
13 2. 4 1. 37ad 2. aff
3.6 4. 18 3. IS UhH 4. 374Tq
3R - 4. 18 397 - > g
4. How many electrons can remain in the third shell of ¢ What is the vertical column of the periodic table
the atom?
called?
1l 3 2 4 1. Period 2. Group
306 4 18 3. Chemical Process 4.  Nonmetal
Ans. 4 18 Ans 2. Group
: 31 3tTad AR & dadl B aiHT BT AR L .
> mg_," 10.  37Tad AR & &S AR B FaT PEA §?
1 ORHTO] IRAT 2. TRHTV] A L 37ad 2 af
3. ORHTU] 3T 4. TRHATI O 3. NS ueH 4. SHADETE
FR- 1 ORETO R IWR- 1 37ad
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10. What is the horizontal row of the periodic table 3. What is Mendeleev’s periodic law, how many periods
called? and how many groups were there in Mendeleev’s
1 Period periodic table?
5> Class Ans. According to Mendeleev’s periodic law - the physical
] and chemical properties of elements are periodic
3. Chemical Process functions of their atomic masses. Mendeleev’s periodic
4. None of these table has 6 period and 8 group.
Ans. 1 Period 4 3Telfah 3TTad fraw ot &2 31Telfe 3mad AR
e 31mad iR wE #2
ﬁg‘ﬁﬂ"rﬂﬂ&r IR~ 3MYFD 37ad 97 & AR - HIsTel & 3R Tl
SHORT ANSWER TYPE QUESTIONS & +fifds U9 IS 0T 3TD WA BHID B
T B &1d 8l
1 Yeells P 371ad |RON &Y &) IudAfedi gd a eI 3Tact AR F 7 37 TS 18 76 AT &
fadmfarai ferd 2 4. What is the modern periodic law? How many periods
w1t &l 3TTdd TR T 3TN, and groups are there in the modern periodic table?
1. T TUT a7 dcdl Bl U T8 § @1 74Tl Ans. According to the modern periodic law - According to
§ T Mojle, the physical and chemical properties of elements
2. 3 ﬂﬁ’aﬂ l are periodic functions of their atomic numbers.
3. Y- AE B @ There are 7 periods and 18 groups in the modern
Hsailth ol 37Tdd TR o fadmfaat, periodic table.
1 EIS3ISH ol 3T REd fRufd | 5. AT &Y 3Td< AROT TUT 3D 31Tad ARV
2. RIS & oy R 3ucter T8 TR T B
1 Write two achievements and two anomalies of IW- STl 3TTerd HRof
Mendeleev’s periodic table? 1 U8 YRHTU] GAH UR 37T 8l
achievements of mendeleev’s periodic table 2 3?:[. 37ad gRUf ¥ 31feey A & ﬁl] ?ﬁ'é e iG]
1. Elements with similar properties are grouped. TE B ' . .
2. There is convenience in study. £ 31Tdd !_ ﬁ%ﬁm E.Ii b I 6 B
3.  Discovery of new elements. 9 T 3 3 18 ﬁw 1T 8 ¥
inconsistencies in mendeleev’s periodic table 5. T8 37Tad AROT T Hfare ¥ &
1. Uncertain position of hydrogen. 3 3Ta A E.
2. Location not available for isotopes. L HEUMI]e t|'\73-'|'|' X< %?I . _
2, FeefIts 3 379N 3Tad ARON dAR A S Ay B 2 39 3Mad RO A 376 AT Y 189 ot A @
AT ATYES 39T ? T &
IR- 1 ddl Bl 3D ded §U URHIU] ST b o | 3. A B et AT 7 3
L eIl 4. IHE DI Pl HBAT 18 B
2. HHME TUT dTd dcd bl Yob T H g BT UaqTH 5. U8 37dd ARUM &l e ¥ 8l
Bl . 5. Explain the difference between Mendeleev’s periodic
3. ddl & &13f3s g 3ifiarss %ﬂ}ﬁ—?ﬁ ®I TP table and modern periodic table
STETRI 0T HTPT dedl T aTlihv] i Mendeleev periodic table
2. Wh'ich. criteria did Mendeleev adopt to prepare his L Itis based on atomic mass.
periodic table? . -~ . .
2 In this periodic table there is no place for inert
Ans. 1. Arrange the elements in the order of their gases.
|n.creaS|ng atomic masses.. o o 3. Inthis periodic table total number of period is 6.
2. T:)eucl to keep elements with similar propertiesin a 4 Inthis table total number of group is 8.
group: 5. ltis short form of periodic table.
3. Classification of elements by considering the Modern Periodic Tabl
formula of hydride and oxides of elements as a odern Ferlodic able
basic property. 1. ltis based on atomic number.
3. NedilP BT 3MTad 9y 7 & 0s6P Bl 3919d 2. In this periodic table inert gases are kept in 18th
ARl # foea 3mad 31k fea wge &2 group.
MR- Ao & 37Tad FUH & AR - dadl & wifds ud 3. Total number of period s 7.
NEIRIRED g{ 37 URATU] SH & 3TTdd Bei eld Total number of group is 18.
&1 HsciToh oY 37Tact ARl § 6 37Tdc uds Elli[ia'%l it is long form of periodic table.
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6. TRATUY HAT 12 TR ARG TIT RATU] §&AT 16 8. The electronic configuration of an element A is
T HBR B TAISTHdT T 8 ? 2,8,8,2.
IR~ Ay 1. Whatis the atomic number of this element?.
mﬂ@'ﬁ 12 2. Whatis the its valency
Soiacidh faaTd = 2,8,2 3. Whatis the period number of element A?
TAISTHdr =2 4. What is the group number of the element?
Teh 5. Is the element a metal or a non-metal?
WFUIW= 16 Ans. 1. Atomic number =20
SeTarel e famaT = 2,86 2. Valency =2
HOISThdT =2 3.  Period number=4
4.  Group number =2
6. What is the valency of magnesium with atomic P
number 12 and sulfur with atomic number 16? 5  Metal
Ans. Magnesium 11. U URHTU] B SHacii—eb [a-aTd 2,8,7 2
WTUIWT‘ ?
Atomic number =12 1. 59 T b ] ?T%
. ) . 2NZ),F(9),PU5)Ar(18) TH A HIF AT dcd STAD A
Electronic configuration = 2,8,2 C o ’
TUTErH YefRid e
Valency =2 3WR- 1 WA IAT=17
Sulphur 2. T F (o) & WY WA IWAT 17 A Tl &
Atomic number = 16 wwﬁ%mﬂmm% ,ﬁ%a’m’r@aﬁm
Electronic configuration = 2,8,6 E : 7e3t !
Valency = 2 11. The electronic configuration of an atom is 2,8,7.
. - ; . Y 10 5 3 Fra 1. What is the atomic number of this element ?
) Wﬂ_m%mwmmm 2. N(7),F(9),P(15),Af(18.) WthhOf these elements will
- show properties similar to it?
- =2
a1q o Ans. 1. Atomic number =17
T 2.  Elements with atomic number 17 will have
fefermmLi) aur afkfeam( Be) chemical similarity with the element F (9), because
3YET=1 the number of valence electrons of both is 7 ie.
same.
919 U9 Hdbd - SRH(B) )
ud 12. U ddd Y 3Tad ARUN & gaR 37ad ik af 16 ¥ 21
7. How many metals and metalloid are there in the first
? BINK
10 elements of the modern periodic table? Write L gdTdsdd ﬂ'lﬂ% AT STET: oo )
their names and chemical symbols. 2 _gr?ﬁ QRATV] & FYISTHAT Selare -1 el AT o
Ans. Metal =2 ) . -
. 3D HUTSTh AT T &7
name and sign .
Lithium (L) and Beryllium B * AT FE
ithium (Li) and Beryllium Be
. y Y GRT AfSTH &A1Y §=14 7Y GIfiTeh BT G T
metalloid =1 BT
Name and Symbol- Boron(B) 3R - 1L 37Urg
8. U acd A BT sagii-ids [aaTH 2,8,8,2 B 2. HESTHAT SAEC T Y TAT= 6
1 39 dcd P URHTU] AT 4T 82 3. HOEHdI=2
2. IAISTHAT T 87 4. dcd &9 = 3=
3. dcd ATHI HTac AT T 87 5. TIfiTeh &1 YA = Na2Y
4. dcd b I GO T B? 12, An element Y is in the second period and group 16 of
5. e e . g ? the periodic table.
- ’ s i 1. Isthe element a metal or a non-metal?
- 1 JRATU] HIAT = 20
. 2. What is the number of valence electrons in its
2. HUSTHAT=2 atom?
3. 3MaddAT=4 What is its valency?
4. ATHJAT=2 4.  What is the name of the elements?
5. FIITj? [ What will be the formula of the compound
HefT-10 (D —— AIWNE IR, I, TRES




observed by Y with sodium?

Ans. 1. Nonmetal
2 Number of valence electrons = 6
3. Valency=2
4.  Element name = oxygen
5. Formula of compound = Na2Y
13. gmaaxmmasumwué?ﬁmmﬁ
1
L T X U &M & U7 37Em?
2. EHI TGSl T 87
3AR- 1 Ul
2. WEEHAT=128,1)
13. An element X is in the first group and third period of
the periodic table.
1. Is X'ametal or a non-metal?
2. Whatis its valency?
Ans. 1. Metal
2. Valancy =1(2,8,1)
Fel-10 (G
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